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04 JIZHHZ22XREE S 24,924 11,733 13,191
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Chelr 22X =% Fl (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O=F8 ZHiDI 120,000 *4H 2 33 2,880
OxZF+ H¥ o gz LA
66,8003 x5H x 10 23 6,680
O&= HMMHAH 66,8003 *10E x 10 *23] 13,360
OM=H &= 66,800 x5H x5 13 1,670
OtMEEZ 8,350, 000& *4% 334
201 2Bt | 960 600 360
01 At 22l 960 600 360
Ot 22EE P (BN, E2EE S)
80,0003 104 A %12 960
401 AlEHI L2 0hYI 20,000 0 20,000
01 A& Bl 20,000 0 20,000
O&X = & &M 20,000
228 o ¥=5 23,838 23,185 653
101 @14 Hl 12,938 20,585 AT,647
04 JIZHHZ22XREE S 12,938 20,585 NT,647
O=F8 ZHiDI 120,000 *4H x4 33| 5,760
O&= HMMAH 66,8003 *4H x5 +23| 2,672
OANd=2 & =8 A 66,8002 12 +102 63l 4,008
O4iEg = 12,440, 000& *4% 498
201 2Bt | 900 900 0
01 At 22/l 900 900 0
Ostys 2288 FL(3EX, EAEE 85)
50,0003 101 2128 600
OW=Jl a2 7 300
401 Al&HI & 28I 10,000 0 10,000
01 A& HI 10,000 0 10,000
OxZd=+= X &« dsol g 10,000
DROHYH A PE N (BZOHHEXT FH|) 30,000 0 30,000
ras 15,000
i 15,000
401 Al BIZ 201 8] 30,000 0 30,000
s 15,000
e 15,000
01 A& HI 30,000 0 30,000
O2ZoHHEX B ZHI ALY 30,000
s 15,000
[ia 15,000
=Xl 2el At 2,099,371 1,986,246 113,125
= 10,147
s 467,000
= 1,622,224
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
S EZASAY 22| 1,303,820 1,416,921 A 113,101
= 10,147
= 467,000
= 826,673
SESASAS 125,067 500,890 A 375,823
101 1A dl 61,667 56,898 4,769
M4 I12HHZ22NSES 61,667 56,898 4,769
ONUBEA 20 AT o 22((6170H)
66,800 * 16 » 10 «33| 32,064
OFQC 28 2T ALE22I(5MA)
66,800 *8H 10 x33| 16,032
O3% 2 TA= ZHI A2 (4700)
120,000& *4H 9 33| 12,960
OtMMEEZ 61,056,000 *1% 611
201 B2 | 3,400 2,000 1,400
02 2322l 3,400 2,000 1,400
Oul=x=Jl Hz 4l 80,000& *5CH*63] 2,400
OJlIHsE |X2el 100,000& = 10CH 1,000
206 M=l 38,000 45,000 AT,000
01 M =4l 38,000 45,000 A 7,000
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101 1A dl 26,988 24,338 2,650
4 IR 2E2NEES 26,988 24,338 2,650
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OUAXI R 24 48 US|
20,000& »250= 5,000
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OUYHMELNEHA ST2Y Jt22 ATH(1.2km)
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OBfAEA AP E2H 2L (HEUR) AT
250,000 80 20,000
OYAATHR AR 2 (HUR) 24
250,000 80 20,000
O=2&2254 JtEgs =8 =2 HA
350 x72,000m x 13| 25,200
O £8E2 JI24 F=H &2 WA
350 x54,000m *13| 18,900
Ot ddEllzsd &35 £ =2 MA
350 x60,000m 13| 21,000
OS22 2 (HUR) &l 20,000
SAE ZH(OIES X4) 320,000 350,000 £30,000
g 160,000
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03 AlE 21| 1,080 892 188
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LIf2d =4 - 24 40,000 50,000 A 10,000
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02 2324l 12,957 12,957 0
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Odt=ER23 30,0003 x5&*12& 1,800
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5 - 4
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OU=Jl € ®*XZel 300,000& *43| 1,200
ONE0I=0lAE & MSAE 288 1,500
202 04l 600 600 0
01 = LH o4 1l 600 600 0
Oz3axd & 2l 60,0003 »2H 5 600
206 = Hl 12,800 12,800 0
01 =8l 12,800 12,800 0
OREZ HHSYM % P
44,0003 100 4,400
gdl, Hzg #< 28,000 *300%£ 8,400
405 XHoHF S HI 1,000 1,000 0
01 AL EZFH S 1,000 1,000 0
Ol =D 500, 000& *2H 1,000
HEHSSH 2al 84,236 81,825 2,411
101 14l 10,121 10,710 A 589
04 JI2ZtHZ22HEE = 10,121 10,710 A 589
O3 Z0Ig M= % 22|
66,800 x10H x5 33| 10,020
OdMMEE= 10,020, 000& * 1% 101
201 Let24d] 4,900 4,900 0
01 At 22/l 2,400 2,400 0
Ost&E4a 2eg2s 7Y 100,000 x2=5+12& 2,400
02 =224l 2,500 2,500 0
O3sazd =81 500
OoBets =dKX 2,000
401 Al HIZ 201 I 69,215 66,215 3,000
01 A& HI 69,215 66,215 3,000
O&0l ¥ =& E4 40,000& *500=F 20,000
O3dU =&+ =& USIl 20,000& 250 5,000
IAY TP+ JBP oS LA
1,0453 %13,500= »23] 28,215
OdEN=E3E =HiDI 2003 40,0003 *23| 16,000
SAZR 22 564,555 317,415 247,140
101 @124 dl 14,575 25,447 A 10,872
4 D12t Z2XEES 14,575 25,447 A 10,872
ORI 2| A2 66,800 6«6 43| 9,620
Oz =9 iz Y 225 AR
66,8003 *6H x32 43| 4,810
OdMEEZ 14,430, 000& * 1% 145
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